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R A 413,579.7 17.3
R e e 91,4557 38
St2HE st 1Ll 322,124.0 13.5
A 1,980,719.0 82.7(100.0)
J|9RM e 1K HRsWe| X|P 1,620,236.0 67.6(81.8)
(CHE AL 2K . Mol x| 203,245.0 8.5(10.3)
3R+ - &5 A 157,238.0 6.6(7.9)
# ()71d3AFAN A &Y
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- .
TE (E;t; HMEm) | FAH|(%) fl
| 692 2,394,298.7 100.0 -
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O Ol = 27 28,679.0 12
AMATIZEEX] u 145 466,705.0 19.5 i
(CHEA)) %; 31 126,703.8 53
7| Et 416 1,712,259.9 71.5
En| 65 413,579.7 17.3
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Ol K| 7|2 = 1 1,880.0 0.1 | sh=7| =0 X| AT
(CHEAL) CH 34 302,179.7 126 | SHREEIEIATY
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27 627 1,980,719.0 82.7
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A[pSesEele: =i 26 26,799.0 11 m;l;"ii%"i: ;HL
(BHTAD CH 111 164,525.3 69|  xm.=mxm
= 25 31,874.8 1.3
7| Ef 395 1,700,150.9 71.0
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X e HE (m) H| o
CHEHA HYHH
1,156,135.3 1,980,719.0

243 726,423.8 1,620,236.0

a7 684 S3 24,083.1 24,083.1| 1X|F:H A YK
2 a7 685 & 22,4919 224919 1X|FHHIA-YE[X|F
3 -RE 686 & 22,490.7 22,490.7 1X|F:HA-Ma| x| 7
4 a7 687 3 16,538.0 16,538.0) 1X|*HIA-@2|X|7
5 a7 688 & 16,538.3 16,538.3] 1X|*HIA-B2|X|7
6 a7 689 3 7,006.6 9420 1X|F:EH I HME[X| T
7 a7 690 & 3,287.9 32879 1X|F:HIALWIX|F
8 a7 691 & 2,987.0 2,987.0 1X|F:HIA-WIX|F
9 a7 692 & 3,681.3 3,681.3] 1X|F:HIA-WIX|F
10 | F4+ 692-1 & 2,291.9 22919 1X|THHA M2 X[F
11 a7 693 & 2,987.3 2,987.3] 1X|F:HIALWIX|F
12 | a4+ 694 & 3,286.1 3,286.1| 1X|:HIA =W X|F
13 | a4+ 695 & 3,285.0 32850/ 1X|:HIA=WEX|F
14 47 696 & 3,285.4 32854 1X|F:HIA-Y|X|F
15 | 4+ 697 & 6,898.2 6,898.2| 1X|Th:HIA WX
16 | Fd+ 698 & 3,4913 34913 1R FHIA =W X|F
17 | 4+ 699 & 1,831.9 1,831.9] 1AF:H I -HE[X|F
18 8+ 699-1 & 1,659.5 1,659.5| 1X[FHHA - ME[X|F
19 47 700 & 34914 34914 1X|FHIA Y X
20 | fE+ 701 & 3,4913 34913 1X|FHIA WX
21 a7 702 & 3,491.2 34912 1R FHIA =W X|F
22 | /8T 703 & 3,450.0 34500/ 1X|F:HIA=WI X
23 | f8+ 704 & 3,448.4 34484 1R FhH AW X|F
24 47 705 Ely 6,896.5 6,896.5| 1X|T-HIA-H|X|F
25 | /8T 706 & 3,052.1 3,052.1| 1R F:HIA WX
26 | 8T 707 & 3,125.0 31250 1X|FHIACWIX|F
27 4+ 708 & 3,137.1 3137.1] 1XF+HIAC-YWEX|F
28 8+ 709 & 3,121.1 3,121.1] 1X|*:HIA WX T
29 | /8T 710 & 3,057.6 3,057.6| 1X|F:HIA =W X7
30 | /8T 711 & 3,074.0 3,0740] 1X|F:HIA LW X2
31 8+ 712 & 3,074.1 30741 1X|F+:HIA YW T
32 | f8+ 713 & 6,355.4 6,355.4| 1X|T:EHIA LW X7
33 | f8+ 714 & 3,179.6 3,179.6| 1X|F:HIA- WX
34 47 715 & 3179.7 3179.7] 1X|F:HIA Y| X
35 | /8T 716 = 1,073.8 1,073.8| 1AF-HI B X7
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gt g | xe 25 |2
T s CHEEA HYHH

150 | /487 | 283 | 1361 =) 2,282.7 12250 1A[F-H I -HE[X|F
151 | 47 | #ES | 1378 =4 39,359.5 22,969.0) 1X|THHIA-HE[X|F
152 | 47 | #Es | 1379 c 5,169.2 5169.2| 1A|FHHIA-HE[X|F
153 | /47 | 288 | 1381 = 3,254.1 31480, 1X|THH A M| X[F
154 | e | 2#ES | 1384 = 3,532.8 3,532.8| 1X|F:HIA-YE|X|F
155 | RdT | 8its 513 & 994.6 994.6| 1X[FHHIALME[X|F
156 | &7 | 84S 514 & 3,356.2 3356.2| 1X|THHA LMK
157 | /47 | 84s 515 3 1,698.1 1,698.1 1X[F-HIAL-B|X|7
158 | RdTF | 45 | 515-1 & 1,655.3 1,655.3| 1XA[FHH A ME[X|F
159 | /47 | 8idE 516 & 1,676.6 1,676.6] 1X7-HIA-H|X|F
160 | 87 | 845 | 516-1 & 1,676.5 16765 1XF-HIA B X7
161 | 487 | 8Uds 517 c 1,218.8 12188 1XA|7-HIA M X7
162 | 47 | 84s 518 & 3,353.6 3,353.6| 1X|F:HA =M X7
163 | 487 | 8i4F 519 & 1,676.6 1,676.6) 1XF-HIA-HW|X|7
164 | 87 | 8&& | 519-1 & 1,676.8 1,676.8) 1XF-HIA WX
165 | 487 | 8U4F 520 & 8,300.0 8300.0| 1A|HIA-Ha|X|F
166 | 487 | 84& | 520-1 & 8,508.6 8,508.6| 1X|7HIA W X7
167 | /47 | 848 521 3 23,8837 23,883.7| 1X|TH AL WE[X|F
168 | RdT | tt= 522 & 1,726.9 1,726.9| 1X|F-HIA M X7
169 | a7 | tt= 523 & 1,729.7 1,729.7| 1A F-HIA @[ X7
170 | 4T | tt= 524 & 1,727.5 1,727.5| 1X|FHI =M X7
171 | /47 | 848 525 & 1,719.6 1,719.6) 1XF-HIAL-B|X|7
172 | fdT | it= 526 L= 1,511.1 1,511.1 11X F-HI =M X7
173 | dT | 8tt= 527 & 1,728.1 1,728.1 1X|FhHIA @[ X7
174 | /47 | 845 528 & 1,729.3 1,729.3] 1X|F-HIA M| X| 7
175 | 78T | 845 529 & 1,730.4 17304 1AF-H I -HE[X|F
176 | 4T | 8tt= 530 & 1,020.2 1,020.2| 1X|FLHIA =M X7
177 | /47 | 848 531 & 1,011.8 1,011.8] 1XF-HIAL-B|X|7
178 | /487 | 8U=3 532 & 17,2115 17,2115 1X|*HIA B2 X7
179 | /487 | 8ids 533 & 12,492.6 12,/492.6| 1X|*HIA-B2|X|7
180 | 87 | 84& | 533-1 & 22,170.1 22,170.1| X FH A MK
181 | fdT | 845 534 & 3,936.8 3,936.8| 1X|ThH I LMK
182 | RdT | tts 535 & 3,767.3 37673 1X|*HIAC-YWEX|F
183 | R8T | 8UE 536 & 3,610.9 36109 1X|F:HIA-WI|X|F
184 | /47 | 845 537 & 3,799.1 3,799.1] 1R F:HIA =W X|F
185 | RdT | its 538 & 3,824.5 3,824.5 1X|T:HIA Y| X|F
186 | 4T | 845 539 & 3,793.1 3,793.1] 1R F:HIA-WIX|F
187 | /47 | 845 540 & 3,205.0 32050 1X|F:HIA=WI X2
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188 | SM | AtE | 541 Xt 1,7689| 1X|FhHIA MK T
189 | YT | 84S | 541-1 & 16887 1X|7-E|3 =B X|F
190 | YT | 8US | 541-2 & 1,801.6| 1X|7:E| 3 =B X| 7
191 | Y7 | 8UE | 54 g 17479 1X| 7B 3 =B X| 7
192 | @M | AL | 542-1 =t 1,652.8) 1X|7-HI-E2| X7
193 | SM | 8AtE 543 xt 21204 1A FHHAEHIX|F
194 | R8T | 8M4& | 5431 el 1,659.8) 1A|7:E A =B X7
195 | @M | 2At 544 =t 5308.1| 1X|:H A MK
196 | SMT | A 545 xt 1,660.9) 1X[7-HI-E2| X7
197 | M43 | 84 | 545-1 a 1,987.7) 1X|7-EH A B[ X| 7
198 | M7 | 84S | 546 Jg 3270.7) 1X|7-HALBEX|F
199 | SAM7 | 8AE 547 xt 18246 1X[7-HIAL-E2|X|7
200 | QAR | AE | 547-1 & 1,653.0] 1X|FLHIA WX T
201 | YT | BUMS | 548 g 1,768.0] 1X|7-E| 3 Ba|X| T
202 | AT | M | 548-1 a 1,767.9) 1X|F-EH A B[ X| 7
203 | AT | M5 | 549 a 16765 1X|7-EH 3B X| 7
204 | QMR | AL | 5491 & 1,650.0 1X|FLHI WX
205 | #ET | US| 550 g 74151 1R HI=ZE X T
206 | w87 | 84& | 551 el 34379 1ATHE| AL EEX T
207 | 78T | M | 5511 g 36411 1XHH IR X|
208 | QM7 | 2= | 552 X 1,845.7| 1X|FhH I = W2[X] T
209 | ST | BAMZ | 552-1 =t 16529 1X|7-HI "X
210 | M7 | 845 | 553 & 3,500.8| 1X|THEHI I -MZ|X|F
211 | QM7 | A | 553-1 & 1,7504| 1X|FLHI WX
212 | AT | 85 | 55322 Jg 1,7502] 1X|FHE 3 BE[X| T
213 | §M7 | 845 | 554 a 69385 1AITHE|ALBE|X T
214 | 787 | 8it& | 555 g 32157 1AIE AL EEX 7
215 | 787 | 8its | 55 g 41140 1X|F-HI=RE|X| T
216 | 97 | 84t 557 =t 19457 1X|7-HI=-E2| X7
217 | SMF7 | &M= | 557-1 =t 1,8352 1X|7-HIL=E2| X7
218 | 9M 71 | 8= | 558 & 8,066.2| 1X|7HH AL AEE|X|F
219 | §M7 | 84 | 559 a 8,066.5 1A|7:H| 3L Ha|X|
220 | 9AMT | M5 | 560 = 3583.6) 1XTHH|IL-HE|X|T
221 | 847 | 8M5 | 561 999.1| 1AIF:HIA=ZEX|F
222 | 84T | 8ME | 562 539.9 1A[T:HILBEX|F
23 | eM7 | gMaE 563 581.1| 1Al7-HI-E2X|F
224 | M7 | M5 | 564 7689| 1A|THH I =#E K|
225 | AT | M5 | 565 769.2| 1R FHH I =EEX|




ol ;LiIHXI% x| EIIE’E'.'(m) - f|m

226 | #EF | BUS 566 584.3 5843 1X|F-HIALMZ|XF
227 | RE+ | 8itE 567 581.8 581.8| 1X|F-HALMEZ|X|F
228 | YT | 8Uds 568 4,9933 49933 1X|FHHALYE|X|F
229 | e+ | 8Us 569 6182 6182 1XA[F:HIA-HE[X|F
230 | YT | 8t 570 925.1 925.1| 1X|F:HA YK
231 | R8T | BME 571 779.9 779.9| 1X[FHHALME[X|F
232 | R8T | 8itE 572 4577 4577 X THHIA M|
233 | /87 | 84S 573 1,176.2 1,176.2| 1X|F:HIA = Me| X7
234 | REF | 8t 574 9332 9332 1X|F:HAL-YE[XF
235 | Rd+ | 8its 575 1,172.0 11720, 1XF-HIA B X7
236 | RdT | 8its 576 1,098.1 1,098.1| 1X|F-HIA B X7
237 | R8T | BME 577 7924 7924 1X[FHHALME[X|F
238 | RET | 8ME 578 &S 1,980.1 1,980.1| 1X|F-HIA M2 X7
239 | Rd+ | 8its 580 & 3,497.0 34970/ 1R F:HIA-WIX|F
240 | R8T | NS 581 & 3,467.8 3467.8 1X|T:HIA-Y|X|F
241 | R8T | BMS 582 & 1,744.7 17447 1X|FHHIA - ME[X|F
242 | ;87 | 84S | 582-1 & 1,723.1 1,723.1| 1R F-HIA =M X7
243 | 8+ | 8Us 583 & 34373 34373 1R FHIACWIX|F
244 | RET | S 584 & 1,659.4 1,659.4| 1X|F:HIA - Me[X|F
245 | 87 | 843 | 584-1 3 1,660.0 1,660.0, 1X|F-HI-B2|X|7
246 | 8+ | 8445 | 584-2 3 2,082.0 2,082.0] 1X|T:HIA=WI|X|F
247 | 8+ | 8445 | 584-3 & 2,530.0 2,530.0] 1X|:HIA=WIX|F
248 | 8T | 845 | 584-4 PS3 1,659.4 1,659.4| 1X[F-HIA WX
249 | R8T+ | 8Us 585 & 3,842.6 3,842.6| 1X|T:HIA-WEX|F
250 | 8+ | 845 | 585-1 & 4,628.0 46280 1X|7-HIA-H|X|F
251 | REF | 8itE 586 & 8,767.5 87675 1X|F-HIALMZ|XF
252 | fE+ | 8Us 587 & 6,949.2 6,949.2| 1X|F:EHIA WX
253 | R8T | 8 588 & 1,657.1 1,657.1| 1X|F:HI M| X7
254 | REF | 8BS 589 & 1,654.2 1,654.2| 1X[FHHIA-ME[X|F
255 | R8T | BME 592 3 7,625.5 14280 1X|FHHIA-ME[X|F
256 | RdT | 8its 593 = 2,860.3 7180 1X|F:HA YK
257 | R8T | 8itE 596 = 1,449.1 290.0) 1A[F:H I -HE[X|F
258 | Rd+ | 8its 597 = 668.9 668.9| 1X|F:HI WX
259 | g+ | 8its 598 =) 203.4 2034 1X|FHA LYK T
260 | RET | 8itE 599 = 363.5 363.5| 1AFHIA-W XL
261 | RdF | 8its 600 = 861.6 861.6| 1X|:HAYE[X|F
262 | REF | 8Us 601 3 1,039.6 2870 1X|FL:H A HME[X| T
263 | REF | 8Uds 602 3 1,109.6 2880 1X|FL:H I -HME[X|F




gt g | xe 25 |2
T = HY HE

264 | REF | BUS 603 3 834.2 8342 1A[FHIA-HE[X|F
265 | YT | U= 604 c 62,324.5 9,964.0 1X|F-HIALHZXF
266 | YT | 8Uds 605 c 20,915.5 20,595.0) 1X|THH I -EE[X|F
267 | YT | 8Uds 606 = 23,9138 23,693.0) 1X|FHHIA-YE[X|F
268 | RdT | 8t 607 c 12,949.8 8437.0| 1X|*HIA M XL
269 | YT | HES 693 & 9,918.2 9918.2| 1X|&HIA-Ha|X|F
270 | R8T | HES 694 & 24,926.3 24,926.3| 1X|THHIA-HE[X|F
271 | R8T | BES | 6941 & 13,2234 13,2234 1XA[F:HA™2[X|F
272 | 98+ | ©HES | 694-9 & 6,624.6 6,624.6| 1X|T:HIA WX
273 | 98+ | ©§ES | 694-10 & 33134 33134 1X|F:HIA-WIX|F
274 | R8T | BHES | 694-11 & 4,895.4 4,8954| 1X[FHHIALME[X|F
275 | 98+ | ©HES | 694-12 & 1,682.6 1,682.6| 1XA|7-HIA-H|X|7
276 | R87 | HES | 69%4-13 & 3,319.1 3,319.1] 1X|+HIA WX T
277 | R8T | HES | 694-14 & 16,528.8 16,528.8| 1A[F:H A ME[X|F
278 | #ET | BHES 695 & 287.2 284.0| 1X[FHH AL ME[X|F
279 | 98+ | HES 696 & 814.8 814.8| 1X|T:HALYE[X|F
280 | YT | HES 697 3 765.7 7330 1X|F:HIALHME[X| T
281 | 98+ | HES 698 = 2,058.0 2,058.0 1X|T:EH I -Ma| X7
282 | YT | HES 699 & 13,883.2 13,883.2| 1X|*HIA-MW2|X|F
283 | RYF | HES 700 3 13,865.7 13,865.7| 1X|*HIA-B2|X|7
284 | RET | HES 701 & 5,958.0 59580/ 1X|F:HI -Wa|X|F
285 | 4T | HES 702 & 7,275.0 72750 1X|-EH I W X7
286 | REF | HES 703 & 9,413.8 94138 1X|T:H AW x|
287 | RdF | HES | 703-1 & 2,460.5 24605 1X|T:HIA B2 X|F
288 | fE+ | HES | 703-2 & 2,672.0 2,672.0] 1X|FHIA =W X|F
289 | RET | HES 704 & 14,434.5 14,4345 1X|F-HA M2 X7
290 | YT | HES 707 CH 9,917.6 9917.6| 1X|T-H AW x|
291 | /84 | EES 709 = 21,3755 11,7929 1XA[F-H A ME2[X|F
292 | fE+ | HES 809 & 4,658.0 4,658.0 1XA|7:HIA-HX|F
293 | fE+ | HES 810 & 6,242.1 6,242.1) 1X|F:HIA =W X7
294 | RET | BHES 811 & 2,374.6 2,374.6| 1X|FHIA-YE|X|F
295 | RETF | HES 812 & 2,362.8 2,362.8| 1X|THH I M2 X[
2% | fE+ | 2HES 813 & 2,336.0 2,336.0] 1X|F:HIA =W X|F
297 | 98+ | HES 814 & 2,329.5 2,329.5| 1R FHIA WX
298 | fE+ | HES 815 & 2,329.7 2,329.7| 1R FHIA=WE|X|F
299 | fE+ | HES 816 & 5,733.6 57336 1X|T:HA-HE[XF
300 | /YT | HES 817 & 5117.6 5117.6] 1X|T:HI WX
301 | REF | HES 821 & 2,684.4 2,684.4| 1X|HIA WX
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gt g | xe 25 |2
T s CHEEA HE

32 | REF | HES 822 3 3,869.1 3,869.1 1X|THH I M| X[
33 | Y+ | BHES 823 3 4,308.3 43083 1X|F-HAL=HZ|X]F
304 | YT | BHES 824 3 8,392.7 83927 1X|FHIALMZ X F
305 | YT | BHES 825 & 9,772.5 9,7725| 1X|F-HIALHEZXF
306 | YT | HES 826 & 3,410.8 34108 1X|F:HIA WX
307 | RET | HES 827 & 2,272.9 22250 1X|FHIA WX
308 | RET | HES 828 & 2,600.4 26004 1X|THHA M2 X[
309 | /YT | HES 829 & 2,683.7 2,6837| 1XR|T:EHI M X|F
310 | e+ | HES 830 & 2,769.2 2,769.2| 1X|F:HIA =W X2
311 | f8+ | HES 831 & 2,739.9 2,7399| 1X|F:HIA-WX|F
312 | fE+ | ©HES 832 & 2,657.8 2,657.8] 1X|FHIA=W|X|F
313 | e+ | HES 835 & 3,870.2 3,870.2| 1R THIA WX
314 | RE+ | HES 836 & 3,800.1 3,800.1| 1X|F:EH A=W X| 7
315 | R4+ | BEES 837 & 12,035.8 12,035.8| 1A[F:H A ME[X|F
316 | A8+ | HES 838 & 11,353.2 11,353.2| 1X|*HIA B2 X7
317 | #8+ | EHES | 838-1 & 2,545.9 2,5459| 1X|FHIA Y| X|F
318 | RYF | HES 839 & 2,809.0 2,809.0, 1X|T:EH I B X7
319 | /487 | BHES 840 & 2,812.9 2,8129| 1X|*HIAC-HWEX|F
320 | YT | EHES 841 & 4,356.7 4356.7| 1X|F-HIA-Ma[XF
321 | 98+ | HES 842 3 43395 43395 1X|FHI-B X
322 | fET | HES 843 & 18,976.8 18976.8| 1X|*HIA-Be|X|7
323 | R4+ | HES 845 3 649.9 4440 1R F-H I M| X7
324 | REF | HES 846 & 8,602.4 8,602.4| 1X|T-H AW X
325 | RdF | HES | 846-1 & 5,172.0 51720 1X|F:HI =Wa[X]F
326 | R8T | EHES 848 & 3,452.1 34521 1X|FHIA Y| X|F
327 | R8T | HES | 848-1 & 3,452.2 34522 1X|THH I M2 X[
328 | 4T | HES 849 & 5,763.4 57634 1X|F:HI WX
329 | fRdF | HES 850 & 15,456.2 15456.2| 1X|7+HI B2 X7
330 | Y+ | HES 851 & 7,196.3 7,196.3| 1X|&HIA WX
331 | Y+ | ©HES | 851-1 & 2,151.8 2,151.8] 1X|F:HIA W2 X7
332 | fE+ | HES | 851-2 & 2,216.8 22168 1X|F:HIA WX
333 | REF | HES | 851-3 & 1,949.6 1,949.6| 1AF-H I -HE[X|F
334 | /487 | EHES | 8514 & 1,946.8 1,946.8| 1X|T-HIA MK
335 | YT | BEES 852 & 3,075.8 3,075.8 1X|THIA Y| X|F
33 | e+ | ©HES | 852-1 & 3,500.0 3,500.0[ 1X|F:HIA =W X7
337 | fE+ | HES 853 & 3,903.1 3,903.1| 1X|F:HIA =W X|F
338 | e+ | HES | 853-1 & 1,985.9 1,985.9| 1X|F:H I WMa[X] T
339 | R8T | EHES 855 3 668.4 4520 1X|-HI MK
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gt g | xe 25 |2
T s CHEEA HYHH

340 | RETF | HES 891 3 2,819.3 2,819.3| 1X|T-HIA M2 X7
341 | REF | HES | 8911 3 4,299.4 42994 1X|FHHALCYZ|X]F
32 | REF | HES | 891-2 3 1,889.0 1,889.0 1A[FHH I -HE[X|F
343 | Y+ | HES 892 & 4,0283 4,0283| 1X|FLHAL=YE|X]F
344 | R8T | HES | 892-1 & 2,642.9 2,6429| X FHIA-WI|X|F
345 | Y+ | HES | 892-2 & 2,3235 2,3235] 1X|FHIA=WI|X|F
346 | RET | HES 893 & 8,995.0 8995.0| 1X|F:HIAM2|X|F
347 | fE+ | HES 894 3 9,259.2 9,259.2| 1X|T:E| I W x|
348 | R8T | BHES 896 & 3,464.7 34647 1X|THIA-Y|X|F
349 | REF | BHES 897 & 1,744.0 17440, 1X|F-HIA - ME[X|F
350 | wET | EHES | 897-1 & 1,742.2 1,742.2| 1X|F-HIA - ME[X|F
351 | YT | EES 898 & 3,547.0 3,547.0] 1X|FHIA-YE|X|F
352 | YT | BEES 899 & 34713 34713 1X|F+HIAC-YWEX|F
353 | YT | EHES 900 & 3,534.8 3,534.8| 1X|HA-HX|F
354 | fEF | HES 901 & 3,486.2 3486.2| 1X|ThHIA-WE| X
355 | YT | EES 902 & 3,448.4 34484 1X|F-HIA YK
356 | RYF | HES 903 & 3,543.6 35436 1X|TEH I B X|TF
357 | /YT | HES 904 & 3,502.3 35023 1X|T:EH A -M2 X7
358 | /YT | HES 905 & 3,486.2 34862 1X|T:H AW X|F
359 | YT | EHES 910 & 3,104.7 31047 1X|HIAC-YWEX|F
360 | RE+ | EES 911 & 3,1424 31424 1X|F+:HIA YW
361 | /47 | HES 912 & 3,111.9 31119 1R F:HIA MK
362 | RYF | HES 913 & 3,138.7 31387 1XRF:HIA LM X|F
363 | YT | BHES 914 & 31117 31117 1XF+HIA WX T
364 | YT | HES 915 & 3,087.0 3,087.0 1X|F:HIA =W X
365 | YT | HES 916 & 3,103.3 3,103.3| 1X|ThH I M2 X[
366 | REF | HES 917 & 3,074.9 30749 1X|F:H I LMK
367 | Y+ | HES 918 & 3,396.9 33969 1X|T:H AW X
368 | Y+ | ©HES | 918-1 & 2,805.7 2,805.7| 1X|hHIA =W X
369 | Y+ | EHES 919 & 3,881.0 3,881.0 1X|:HIA =W X|F
370 | fE+ | HES 920 & 1,687.2 1,687.2| 1XF-HIA B X7
371 | R8T | HES | 920-1 & 1,687.1 1,687.1] 1AF-H I -HE[X|F
372 | R8T | BHES 921 & 1,659.5 1,659.5| 1X|F-HIA MK
373 | 98+ | HES | 92141 & 1,685.1 1,685.1 1X[F-HIA WX
374 | R8T | BHES 922 & 34934 34934 1X|FHIA-YEX|F
375 | fE+ | HES 923 & 2,094.2 2,094.2| X FHIA WX
376 | 98+ | ©HES | 923-1 & 1,982.9 1,982.9] 1X|F:HIA Ma[X] T
377 | /YT | HES 924 3 4,078.5 4,078.5 1XFHI WX
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gt g | xe 25 |2
T s CHEEA HYHH
378 | #EF | HES 925 & 6,418.1 64181 1X|THH I M2 X7
379 | RE+ | HES 926 3 47736 47736 1X|FHHACYZ|X]F
380 | YT | BHES 927 3 1,663.2 1,663.2] 1A[THH I -HE[X|F
381 | REF | BHES | 9271 3 1,712.0 17120 1X[F-HIA-EE[X|F
382 | feT | HES 928 & 5,648.6 56486 1X|T:HA LYK
383 | e+ | HES 929 & 4,396.8 4396.8| 1A|:HIA B X7
384 | REF | HEYS | 9291 & 3,038.3 3,0383| 1X|ThH A M| X[
385 | YT | ©HES | 929-2 3 1,983.3 1,9833| 1XF-HIALY|X|T
386 | Y+ | HES | 929-3 & 1,659.5 1,659.5| 1X[F-HIA-HX|7
387 | #ET | BHES | 9294 & 2,426.5 24265 1X|FHIA Y| X|F
388 | wET | EES | 929-5 & 1,672.7 16727 1X|FHHIA-ME[X|F
389 | RET | EES 930 & 1,750.5 1,750.5| 1X[FHH A ME[X|F
390 | REF | HES | 9301 & 2,215.0 22150 1X|+HIA WX S
391 | Y+ | HES | 933-8 Sy 3,267.5 3,267.5 1X|THIA-H|X|F
392 | fEF | HES | 930-2 & 1,669.5 1,669.5| 1X[F-HIA-HX|7
393 | RET | EES 946 = 30,827.7 19,489.0, 1A[F-H A -ME[X|F
394 | YT | BHES 947 1~ 3,508.5 34020 1X|F:HIA=WIX|F
395 | YT | BHES 948 = 20,3720 13,315.0) 1X|*HIA-B2|X|7
396 | RET | BHES 949 = 9,109.2 6,960.0] 1X|HIA-YWE|X|F
2X| LA A (33EX]) 225,572.4 203,245.0

1 47 | MUS | 461-5 = 14118 1,411.8 K| AIX|

2 97 | M2US | 461-6 El 68,630.2 68,630.2 K| ™ QIR

3 47 | MOUS | 461-7 ch 4,733.0 4,733.0 K| ™ QIR

4 47 | M2US | 461-8 CH 11,563.3 11,563.3 K| ™ QIR

5 a5 | US| 461-25 Ch 3,9433 3,943.3 K| ™ BIX|

6 a5 | US| 461-26 CH 3,943.9 3,943.9 K| ™ BIX|

7 Y7 | HUUS | 461-27 o 1,427.1 1,427.1 K| AIX|

8 95 | M2US | 461-28 CH 3,252.6 3,252.6 K| ™ QIR

9 a7 | US| 461-29 Ch 49829 4,982.9 K| ™ QIR

10 | §4+7 | ©2S | 461-30 Ch 11,018.3 11,018.3 2K ™ QIR

11 a7 | MEUS | 461-31 Ch 22,3309 3.5 2K ™ BIX|

12 | /47 | eS| 461-32 c 4,388.6 4,388.6 2K ™ BIX|

13 87 | M2US | 461-33 o 5173.0 5,173.0 K| A BIX|

14 YT | M2US | 461-34 o 2,847.6 2,847.6 K| M BIX|

15 87 | M2US | 461-35 o 4,776.3 47763 K| M BIK|

16 | F47 | M2US | 461-36 Ch 6,067.8 6,067.8 K| ™ BIX|

17 | 45 | M2US | 461-37 Ch 5,304.1 5,304.1 K| ™ QIR

18 | 47 | M2US | 461-38 Ch 5,654.6 5,654.6 K| ™ QIR
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gt g | xe 25 |2
T s CHEEA HYHH

19 | R&7 | ®8= | 461-39 & 5171.5 51715 2K B
20 | R8T | MUE | 461-40 & 5,779.5 5,779.5 K| ™ QIR
21 a7 | US| 461-43 & 7238 7238 K| BT
22 | 4T | MUS | 461-44 & 629.0 629.0 K| BT
23 | f87 | ®UE | 461-51 Ch 4230 423.0 K| ™ BIX|
24 | R8T | dUS | 461-52 Ch 11,869.4 11,869.4 K| ™ BIX|
25 | *4T | ©BS | 461-54 Ch 3,436.5 3,436.5 K| AKX
26 | R8T | MUE | 461-55 CH 8,678.6 8,678.6 K| ™ BIX|
27 Y7 | MUUS | 461-56 = 595.0 595.0 2K| ™ AIX|
28 87 | MBS | 461-57 o 1,485.3 1,485.3 2K| ™ BIX|
29 U | MBS | 461-71 Ely 14,485.0 14,485.0 2K| ™ BIX|
30 w87 | MBS | 461-78 o 714.2 714.2 2K| ™ BIX|
31 95 | M2US | 461-81 c 330 33.0 2K ™ BIX|
32 | 887 | dUS | 461-82 c 73 73 K| ™ QIR
33 | f87 | dUS | 853-1 T 92.0 92.0 K| ™ QIR
3X| A A (198EX]) 204,139.1 157,238.0

1 747 | 1ES | 472-1 ™ 281.0 1.0 3X|FESAF
2 97 | &S | 4722 H 390.0 390.0 3X|FERAF
3 a7 | #ES | 473 Ch 465.0 465.0 3X|EFAF
4 a7 | TES | 4731 H 203.0 203.0 3X|FEFAIF
5 a7 | TES | 4742 =) 2,540.0 1.0 3X|FEFAIF
6 87 | TES | 474-3 et 2340 234.0 3X|FEFAIF
7 87 | TES | 476-1 H 281.0 281.0 3X|FEFAIF
8 #47 | 1ES | 476-3 ot 241.0 241.0 3R ESAT
9 47 | +ES | 476-4 I’ 208.0 208.0 3X|FLEFAIF
10 | /47 | #8S | 476-5 I’ 1,285.0 1,285.0 3X|FEFAIF
11 #4847 | 7S 477 o 149.0 149.0 3R FESAIF
12 | /47| #ES | 482 H 1,884.0 1.0 3X|FEFAIF
13 | /87| #ES | 485 M 1,051.0 992.0 3X|FLEFAIF
14 | /47| #ES | 486 H 605.0 605.0 3X|LEFAIF
15 47 | 7ES 487 o 377.0 377.0 3R FESAIT
16 | /47 | #ES | 487-1 CH 390.0 390.0 3X|FEFAIF
17 87 | *ES 488 i} 1,316.0 717.0 3R FESAIT
18 | /47 | #ES | 489 Ch 591.0 591.0 3X|FEFAIF
19 | /87 | #ES | 489-2 Ch 661.0 661.0 3X|LEFAIF
20 | R8T | #ES | 4893 Ch 329.0 329.0 3X|LEFAIF
21 747 | 1ES | 489-4 | 274.0 274.0 3R ESAIT
22 #4847 | 1TES | 489-5 L= 49.0 49.0 3R HESAF
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A K|

z =& | " T ORE L
747 | #ES | 510-6 15.0 X HEFKX| T
f47 | *88 | 5107 1.0 3R HEDX|
f47¢ | *88 | 510-8 89.0 3R HEDX|
#4847 | 785 | 510-9 439.0 3| HEZR| R
47 | 1ES 511 281.0 3R HEZR| R
87 | 1BS | 5122 et 3.0 3R HEZX|
a7 | #8S | 512-3 = 1,017.0 3X|LEZX| R
7ET | TES | 58 gl 2150  3RTLEZXP
47 | 1ES 584 = 1,426.0 3X|HESK|F
#4847 | #8S | 585-3 B 1,290.0 X REDX| R
d7 | +ES 588 I’ 424.0 3X|LEZX| R
487 | #BS | 59 et 9.0 3R HEZX|
#4847 | 1S 591 ™ 514.0 3X|HESK|F
47 | 78S | 592-1 = 1,076.0 3R RETX| R
#4847 | +ES | 592-2 = 1,544.0 X RETX| R
47 | 1ES 593 B 1,779.0 X FEDX| R
i+ | TES 594 = 1,587.0 3X| LEEZX| R
/87 | 2BS | 5951 =1 767.0 3R HETX| T
fHEF | 1BS | 595-2 =1 664.0 3X|TLEFK| T
#4847 | 78S | 596-1 = 2,302.0 3X|HEDR| R
a7 | TES 597 213.0 3X|LEZR| R
7ET | TES | 5% 387.0 3K TEDR| P
a7 | TES 599 767.0 3| LEFX| TR
/87| *ES | 600 1,137.0 3R HETX|
47 | 1ES 601 661.0 3R HEZR| R
87 | 785 | 602-1 1,937.0 3R HEDR| R
fEF | 1BS | 602-2 598.0 3R HETX| T
737+ | #ES | 602-3 1,851.0 X EEFX| T
78T | 78S | 603 234.0 3X| LEDR| L
R8T | 7ES | 604-1 1,177.0 3X|TEZX|P
a7 | TES | 604-2 663.0 3X|LEZX| R
a7 | TES | 604-3 66.0 X PEDX| R
a7 | #ES | 606-1 680.0 3R LEDX| T
Fd7 | #ES | 606-2 36.0 3R LEZX| T
a7 | #ES | 606-3 36.0 3R LEDX| T
#4847 | +ES | 607-2 3320 3R LEDX| T
a8 | #ES | 608 64.0 3R HETX|
a8 | #ES | 609 1,580.0 3X|TLEFK| T




T —_ x| & Sl H| 2
T = CHE X

9 | R8F | #FES | 609-1 992.0 443.0 3X|LEFK|F
100 | R87 | +88| 610-1 555.0 555.0 3R EEZX| R
101 | 987 | #+88 | 610-2 397.0 397.0 X HEZR| T
102 | 887 | 83 | 610-3 1,448.0 1,448.0 X[ EFX|F
103 | #8+ | #8838 | 611 572.0 572.0 3R FESAIT
104 | #87 | 78S | 612 182.0 182.0 X FESRT
105 | #47 | 1ES 613 522.0 522.0 3X|LEFX|F
106 | R8T | *T83 | 614 4530 453.0 3R THESRRT
107 | /87 | 783 | 615 602.0 602.0 3R FESRT
108 | /&7 | +ES | 616 413.0 413.0 3X|HEFR| T
109 | /87 | 7S | 617 324.0 324.0 X =S
10 | /87 | 7183 | 618 970.0 970.0 3R FE S
111 F497 | +ES | 618-1 670.0 670.0 3R EZX|F
112 | /47 | #83 619 364.0 364.0 3X|HESK|F
113 | #/d7 | 18 620 407.0 407.0 3R L EDA| T
M4 | 787 | 1€ 621 486.0 486.0 3X|LEFX| R
15 | R4+ | +ES | 622-1 526.0 526.0 3R EDX|
116 | #87 | #+8s | 622-2 1,306.0 1,306.0 X[ EFX|F
M7 | /87 | 788 | 622-3 201.0 201.0 3R THESRT
118 | 8+ | #85 | 622-4 424.0 424.0 3X|LEFK| T
M9 | /87 | 788 | 623 il 1,064.0 1,064.0 X[ EFX|F
120 | #3887 | 7ES | 624-1 = 602.0 602.0 3X| REDX| R
121 | 987 | #E& | 6242 = 162.0 162.0 X EEFX| T
122 | #87 | 1783 | 624-3 il 294.0 294.0 X ETX|F
123 | /87 | 78S | 625 sl 1,266.0 1,266.0 X FEEFXF
124 | R+ | +ES 626 Ef 3,157.0 3,157.0 3X|HEDR|R
125 | /87 | 78S | 627 = 988.0 988.0 X EEFX| T
126 | &7 | 1ES 628 ™ 1,144.0 1,144.0 3R FHESK|F
127 | /87 | #E3 | 629-1 H 536.0 536.0 3X|LEFX| R
128 | R8T | 78S | 629-2 = 264.0 264.0 X EETX| T
129 | /87 | 73| 630 sl 2,198.0 2,198.0 X ETX| T
130 | /87 | 78S | 631 il 1,025.0 1,025.0 X ETX|F
131 | /47 | #ES 632 il 1,408.0 1,408.0 3X|LEZX| R
132 | /87 | 78S | 633-1 il 1,983.0 1,983.0 X REZX| R
133 | /87 | 783 | 6332 il 2,046.0 2,046.0 X HEZR R
134 | /47 | *ES 634 845.0 845.0 3X|HESK|F
135 | RET | TES | 634-1 20.0 20.0 3X|LEZR| T
136 | #87 | 788 | 634-2 18.0 18.0 3X|LEFR| T
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o AXYX| x| x| HE () ol
T s HEgHA HYUHH

137 | /87| 78S | 635 CH 1,283.0 1,210.0 3| FEFX| T
138 | R4+ | #ES | 636 H 1,002.0 1,002.0 X FEEFXF
139 | #87 | 7183 | 637 al 1,587.0 528.0 3R EEZX| R
140 | #87 | #ES | 639-1 il 545.0 545.0 X EETX| T
141 | 787 | #ES | 639-2 = 1,676.0 1,350.0 X FETX|F
142 | 87 | +ES | 640 sl 1,620.0 1,620.0 X[ FEETXF
143 | 787 | 788 | 640-1 H 893.0 893.0 3X|TLEFAT
144 | 87 | #ES | 640-2 i 496.0 496.0 3R HEDR| R
145 | #d7 | 78S | 640-3 H 347.0 84.0 IR FHEDR| R
146 | RET | TES | 6404 ™ 264.0 264.0 3R EDA| T
147 | &+ | +ES 641 ™ 2,575.0 2,575.0 3R L EZR| T
148 | 787 | #TES | 642 H 1,461.0 1,461.0 3R FE S
149 | 87 | 78S | 643 il 2,013.0 2,013.0 X ETX|F
150 | /87 | *1E8 | 644 ot 1,793.0 1,793.0 X REZX| L
151 | /47 | 183 645 H 195.0 195.0 3R FHEDR| R
152 | #87 | 1TES | 646 il 605.0 605.0 X EETX| T
153 | R+ | +E= 647 ™ 565.0 565.0 3R R EZX| R
154 | 87 | 183 | 648 = 2,959.0 1,813.0 3X|ETX| T
155 | 87 | 78S | 649 il 3,914.0 2,007.0 X EFX|F
156 | FdT | TBS | 649-1 =1 3,382.0 1,702.0 3X| L EZR| T
157 | /87 | #8& | 650-1 = 1,260.0 1,029.0 X[ EFX|F
158 | #d+ | +8& | 650-2 ™ 403.0 123.0 3R EZR|F
159 | /87 | #8S | 651-1 M 1,537.0 1,437.0 X EEFX| T
160 | #37 | 78S | 651-2 al 1,342.0 1,107.0 3| LEFX| TR
161 | /47 | 1ES 652 H 975.0 975.0 3R ESK|F
162 | fdT+ | +ES 653 ™ 595.0 595.0 3X|LEZR|F
163 | &7 | +ES | 654 il 770.0 21.0 3R HEZR| L
164 | R8T | #ES | 655-1 = 446.0 446.0 3R HEDR| R
165 | #87 | 7ES | 6552 il 1,342.0 1,342.0 3X|LEFX| R
166 | 787 | TES | 655-4 al 75.0 75.0 X EETX| T
167 | 787 | 7E3 | 6555 il 255.0 255.0 3X|LEZX| R
168 | #47 | +TES | 656-1 il 1,934.0 1,865.0 X ETX|F
169 | #87 | TES | 656-2 = 390.0 390.0 X REIX| L
170 | #3887 | 185 | 658-8 = 1,267.0 1,134.0 3X| EDX| R
171 | 87 | +83| 697-6 T 1,959.0 1,722.0 3R EEZX| R
172 87| 8= 718 =3 69.0 69.0 3X|FEDR|R
173 | /87 | 78S | 719-1 T 16,529.0 14,3919 X EFX|F
174 | /87 | 188 | 720-1 = 524.0 524.0 X ETX| T
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o AT K| x| xe HH (m)
T s ! H

175 | /87 | #ES | 722-1 = 382.0 3X|FEFAIF
176 | 4+ | +E= 723 = 56.0

177 | R4+ | +E= 724 T 3470

178 | R4+ | +E= 725 = 13.0

179 | e+ | *ES | 725-1 = 51.0 3X|FESA|F
180 | /47 | +ES 780 = 6,000.1 3X|FEFAIF
181 | /87 | #BS | 1883 & 1,034.0 3X|FEFAIF
182 | a7 | 7B | H97-8 = 1,422.0

183 | R8T | #E3 | M97-10 o 1,097.0 3X|EFAIF
184 | R8T | #ES | M97-16 ol 26.0 3X|FLEFAIF
185 | RdT | +EBS | M97-17 & 12,957.0 3R F =R
186 | R8T | #ES | M97-18 & 181.0 3R FESA|F
187 | #4847 | #E8 | 4H01-1 & 2,975.0 3X|FERAF
188 | 4T | #ES | 4H101-3 & 298.0 3R FHESA|F
189 | R8T | #ES | 4h02-2 o 915.0 3R FHESA|F
190 | /487 | #8835 | tho3 o 595.0 3R FESAF
191 | |47 | #8838 | tH04-8 & 2,093.0 3X|FEFAF
192 | /47 | #88 | th04-10| 2,303.0 3X|FERAF
193 | /47 | #ES | tH04-11 o 229.0

194 | 47 | #ES | 4H06-1 o 315.0

195 | |47 | #+E& | 4H06-2 & 488.0 3X|FEFAIF
196 | R85 | #+E& | tH07-6 & 3,708.0 3X|FEFAIF
197 | |47 | #+8& | tho7-7 & 1,652.0 3X|FEFAIF
198 | /47 | #88 | th07-13| & 2,073.0 3X|FEFAIF




